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Q.1 Jamess Mill was a Scottish ........... (1) 

 (A) Economist   (B) Political philosopher  

 (C) Both A & B  (D) None of them  

 tsEl fey ,d LdkWfV”k-------------------  

 (A) vFkZ”kkL=  (B) jktuSfrd nk”kZfud  

 (C) ;g nksuksa  (D) buesa ls dksbZ ugha  

   

Q.2 In 1920 The national archive of India was build in ? (1) 

 (A) New Delhi   (B) Calcutta  

 (C) Bombay   (D) None of them  

 lu 1920 esa jk’Vªh; vfHkys[kkxkj dh LFkkiuk dh xbZ FkhA  

 (A) ubZ fnYyh  (B) dydRrk  

 (C) cEcbZ   (D) ;g lHkh  

   

Q.3 Natural resources can be broadly categories into ? (1) 

 (A) Renewable    (B) Non-renewable  

 (C) Both of them  (D) None of them  

 izkdf̀rd lalk/kuksa dks foLr`r :i ls foHkkftr fd;k tkrk gSA  

 (A) uohdj.kh;  (B) vuohdj.kh;  

 (C) ;g nksuksa   (D) buesa ls dksbZ ughA  

   

Q.4 Who lead the creation of more resources?  (1) 

 (A) Idea     (B) Knowledge   

 (C) Inventions   (D) All of them  

 dkSu vf/kd lalk/kuksa dh jpuk djrs gSa\  

 (A) fopkj (B) Kku (C) vkfo’dkj  (D) ;g lHkh  

   



Q.5 The use of land is determined by which factors.  (1) 

 (A) topography    (B) Soil  

 (C) climate     (D) All of them  

 Hkwfe mi;ksx fdu dkjdksa }kjk fu/kkZfjr fd;k tkrk gSA  

 (A) LFkykdf̀r   (B) ènk  (C) tyok;q  (D) ;g lHkh  

   

Q.6 Which factors lead to soil degradation ? (1) 

 (A) deforestation    (B) Overgrazing  

 (C) Landslide    (D) All of them  

 dkSu ls dkjd eǹk fuEuhdj.k esa lgk;d gS\  

 (A) ouksUewyu   (B) vfrpkj.k  (C) Hkw[[kyu  (D) ;g lHkh  

   

Q.7 Source Based questions.  (3) 

 By the early nineteenth century detailed surveys were being carried out to 

map the entire country. In village, revenue surveys were conducted. The 

effort was to know the topography the soil quality the flora the fauna the 

local histories, and the cropping pattern. All the facts seen as necessary to 

know about to administer the region.  

 

 mUuhloh lnh dh “kq:vkr rd iwjs ns”k dk uD”kk rS;kj djus ds fy;s 

cM+s&cM+s losZ{k.k fd;s tkus yxsA xkao esa jktLo losZ{.k fd, x,A bu 

losZ{k.kksa esa /kjrh dh lrg] feV~Vh dh xq.koRrk] ogk feyus okys 

isM+&ikS/kksa vkSj tho&tarqvksa rFkk LFkkuh; bfrgklksa o Qlyksa dk irk 

yxk;k tkrk FkkA vaxzstksa dh jk; esa fdlh bykds dk “kklu pykus ds 

fy;s bu lkjh ckrksa dks tkuuk t:jh FkkA 

 

   

Q.7 (i) In which century surveys were started ? (1) 

 fdl lnh esa losZ{k.k “kq: gq, Fks\  

 (ii) What kind of surveys were conducted in village ?  

 xkaoksa esa fdl izdkj ds losZ{k.k fd;s x, FksA  

 (iii) Why Surveys are necessary ?   

 losZ{k.k egRoiw.kZ D;ksa FksA  

   



Q.8 (i)  Records are very important. (1) 

 (ii) They help in effective administration.    

 (a) I is right   (b) II is right  

 (c) I is right II is the right explanation of I    

 (b) Both are wrong  

 (i) vfHkys[k cgqr egRoiw.kZ gSA   

 (ii) ;g izHkko”khy iz”kklu esa enn djrs gSaA   

 (a) I lgh gS  (b) II lgh gS  

 (c) I lgh gS II dFku I dk lgh O;k[;k gSA   

 (b) nksuksa dFku xyr gSA  

   

Q.9 (i) Utility makes resources (1) 

 (ii) Some resource had more value.    

 (A) I is not right (B) II is right  

 (C) Both one right but II is not explanation of I  

 (D) Both are right and II is right explanation of I  

 (i) mi;ksfxrk lalk/ku cukrh gSA  

 (ii) dqN lalk/ku vf/kd ewY;oku gksrs gSaA  

 (A) I dFku xyr gS   (B) II dFku lgh gSA  

 (C) nksuksa dFku lgh gS fdUrq II dFku  I dk lgh O;k[;k ugh gSA  

 (D) nksuksa lgh dFku gS vkSj II dFku I dh lgh O;k[;k gSA  

   

Q.10 Who was the last viceroy of India ? (1) 

 Hkkjr dk vafre ok;ljk; dkSu Fkk \  

   

Q.11 “The separation of religion from the state is known as ? (1) 

 /keZ dks jkT; ls vyx j[kus dh vo/kkj.kk dks D;k dgrs gSa\  

   

Q. 12 Fill in the blanks fjDr LFkkuksa dh iwfrZ djsaA  (4) 

 (A) The example of non- renewable resource is _______ (cool/ solar)  

 vuohdj.k lalk/ku dk mnkgj.k gS_______¼dks;yk@lkSj ÅtkZ½  

 (B) Vanamohatasava is programme of __________ (wild life/forest)  



conservation.  

 ou egksRlo _______ ¼oU;tho@oU;½ laj{k.k dk;ZØe gSA  

 (C) ___________(Dr. B.R. Ambedkar/ Dr. Rajendra Prasad) known as 

father of the Indian constitution.  

 

 ___________¼MkW- ch0vkj0 vEcsMdj@MkW- jktsUnz izlkn½ dks Hkkjrh; 

lafo/kku dk firkeg dgrs gSaA  

 

 (D) The Indian State is ______________ (not ruled/ruled) by a religions 

group. 

 

 Hkkjrh; jkT; /kkfeZd laxBuksa }kjk ___________ ¼pyk;k@ugh pyk;k½ 

tkrk gSA  

 

   

Q. 13 What is the difference between minority and majority ? (4) 

 vYila[;d vkSj cgqla[;d esa D;k varj gS\  

   

Q. 14 Why are human resources is so important ? (3) 

 ekuo lalk/ku D;ksa egRoiw.kZ gksrs gSa\  

   

Q. 15 How can we conserve our natural vegetation?   

 ge viuh izkdf̀rd ouLifr dk laj{k.k dSls dj ldrs gSA  (3) 

   

Q. 16 Explain the system of subsidiary alliance?   

lgk;d laf/k O;oLFkk dh O;k[;k \ 

(5) 

   

Q. 17 Explain about main fundamental rights ? (5) 

 izeq[k ekSfyd vf/kdkjksa ds ckjsa esa O;k[;k djsa \  

   

Q. 18 Plot the following in the map if India ? (2) 

 Hkkjr ds ekufp= esa iznf”kZr djsaA  

 (A) Mysore eSlwj  (B) >kalh  

   

   



 


